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Consider the following lists.
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Match the functions in List - I with their ranges in List - II and choose the correct answer,
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Assertion (A) : (1) + (1+2+4) + (4+6+9) + (9+12+16) + ... + (81+90+100) = 1000

i)
Reason (R) : Z[}*3 == 1)3 ):?}'3 for any natural number

r=1
EEco (A): (1) + (142+4) + (4+6+9) + (9+12+16) + ... + (81+90+100) = 1000

h
s¥wo (R): 98 e dopg n & Z(;-3 —(;-—1)3):;;3
r=l1
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A)

| (A) ®oc (R) e Bods S8gin $o0ahs (R) €36 (A) © $0g 255w

Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
. (A) S08oiw (R) oo Bodr 80 570 (R) @36 (A) § H050S IS 5260

(A) 1s true but (R) 1s false
(A) 28550 570 (R) eddghm
3.

(A) 1s false but (R) is true
" (A) eddghn 50 (R) ddg5m
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H A= & o o i 3 and X =APA " then A X A=

1 @ 11
Az[ },Pz[ﬂ J 538050 X=APATewond AT A=

Options:
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1 0
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If [x] i1s the greatest integer less than or equal to x and |x] 1s the modulus of x, then the
system of three equations

2x+ 3|+ 5[z] =0.x+|y| -2[z] =4, x + [y + [zZ] = 1 has

[x] 236 x80B 885 Tor x & S K0Q Frgodo, v w3B x Bwg), HBDH Dreghn
LBOWB

2x+ 3| +5[zZ]1=0.x+ | - 2[z] =4.x+ ]+ [2] =1

P Ede 5§5§§

Options:

a unique solution

J8E TS trotnod

finitely many solutions

TGoey H8S o SodtIon

infinitely many solutions

@Eﬁu&'@_&%’)@i e odiron

no solution
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Investigate the values of A and u for the systemx+ 2y +3z=6.x+ 3y +5z=9.

2x + 51+ Az = p and match the values in List - I with the items in List - IL

X+2y+32=6.x+3y+52=9.2x + 5y + Az = oI Sg5P%0 A, [ DeoSoss H0FG0D,

ardar - [ 570 dended ade -1 S0 soTasy Bélddok.

A) A=8.u#l5

B) Az8uellR

C) A=8.u=15

The correct match is

DOSPE 56
Options:
&, B E
T & W
A B £
i )
A B €
m I I

List-1I

arfas - 11

Infinitely many solutions
WRH0S Jogrgs FEHOI0LTA
No solution

A S

Unique solution

:]Eé Fn Gotnod
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2z=3\ =
fr=x+#, x,ve R (x,v) # (0.—4) and Arg ( e ]:I then the locus of = 1s

. 2 ;
z=x+& x,ve R (x, ) # (0,—4) Sobcsw fﬂu‘g( - ]:E o8, Z BuwE), Dodaddo

z+4i) 4
Options:

| 274+ 2)7 4 5+ 5y—12=0

223y +y2+ Sx+y—12=0
2.4 09 2
: X+ 3y 5+ y+12=0

, 2°+27 —1lx+ Ty—12=0
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If z=x+iv, x, ¥'€ R and the imaginary part of = "~ is 1 then the locus of z is

£l

z=x+1Iv, X, ¥ € RDoBcl® i—_l GRo0E), é@géﬁ grito 1 00208 z Bng Dododdo
= —1i

Options:
lx+y+l=ﬂ

, X+y+1=0, (x, ) # (0,-1)

s X+ —x+3p+2=0
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If o represents a complex cube root of unity, then

(1+lJ[l+ lﬁ]+(2+ij[ 1_,J+...+[}I+l](?i‘+%]=
@ ar @ ar @ @

O @30 JEE50 Boog), el Ho8g DdSrord) Srdy

) N G e o (O (s

Options:

7 (HE +1)

1 3

7 (?:2 +2)

2 3
f;r{n‘2 —2)
3 =
n’ (n—1)
4 6
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If m 1s a complex cube root of unity then

0
Zr(r - 1—m}(1'+1—m2}=
r=1

.-'

W uIH 8850 D), ¥ Do ég Doddrod

9
Y rr+l-@)(r+l-w)=
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2

3—-4a 3-48
ax’+bx+c=0and GCD of a. b.cis 1 thena+ b+ c=

If oo and P are the roots of X+ 7x+3=0and are the roots of

O+ Tx + 3= 0 02088708 Soreren o B en, ax’+ by + ¢ = 0 $5068e8 Soreren

e obosny a. b.cw G3008), Ao leowsd a+b+tce=

Options:
p 11
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If 0. B are the roots of ¥’ + by + ¢ =0, '}’.6EJ‘EThEI‘GD’ES{)fIE+E)1.T+£‘I=ﬂ andy<o <0<,
then (c—cl}jﬂi
o, Ben Ilf—f]I‘FE’:ﬂ@‘Gé& Soreren, ¥, 0o :(2+blx+c*l=ﬂci1:rézr Frered 0805

4 . 2
Y<o<d<Pwond (c—c)” <

Options:

: (b, —b) (be,—b,c)
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Let a. b and c be the sides of a scalane triangle. If A is a real number such that the roots of the equation
:(2+2(a+b+c} x+3A (ab+bet+ea) = 0 are real then the interval in which A lies is

a. b, c w0 wf DES wrdv @ond) FowosFosd. $DEdwo x°+ 2(a+htc)x+ 3\ (abtbetea)=0

S8 TR Sareres GOt God TTRD dopg Awond wdvd A &oBd woddo

Options:

Question Number : 14 Question Id : 1874633694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The polynomial equation of degree 4 having real coefficients with three of its roots as

Ei\@ and 1421, is

Ziwﬁ. 1421 &0 dordy Soreren™ 800 08 Mmso BOA5 45 4618 2bvdd
gt

Options:
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1 e 142+ 22+ 5=0
o6 —19x+22x—5=0
o6 +19x—22x+5=0

A6+ 145 —22x+5=0

Question Number : 15 Question Id : 1874633695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

All the letters of the word ANIMAL are permuted in all possible ways and the permutations
thus formed are arranged in dictionary order. If the rank of the word ANIMAL is x. then the
permutation with rank x. among the permutations obtained by permuting the letters of the
word PERSON and arranging the permutations thus formed in dictionary order 1s

"ANIMAL' 3 556060 @) e§orois @ghociy o) ITeoir euody™ SO ©DRorod
FWotn Boos® edomyd. wdyds "ANIMAL o358 G, §'8 rwowd, PERSON
we &0 wicod Sra b Jddom SVl éiﬁd BTorod dPotnd Edods’
wNIYE, TAS° x FEr Ko (Sxdhn

Options:

i ENOPRS

, NOSPRE

, NOEPRS

A ESORNP
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A student 1s allowed to choose atmost # books from a collection of 2n+1 books. If the
total number of ways in which he can select atleast one book is 255, then the value of 7 1s

2p+] YP[FIWO [T DY HNod A0ROT 17 YJFTO Joas DT 8 QTR B0 BoT 3.
©gE EA00 8 PIF Q) J0dE VREROA IFIne Indo Somg 255 wand, WDy 7 Jeod
Options:
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The sum of all the coefficients in the binomial expansion of (1+2x)" is 6561. Let

1 F
R=(1+2x)"=I+FwhereJe Nand0<F<1.If x=——. then 1- =

V2 1+(JE—1f

(1*;1‘)”(5&3%& (gl JVGES wd) eso dwdo 6561 R= (]-I—E.T}” =+F, Ie N,
: : ) : &
Lo 1- =
1+(v2-1)

wBo3y 0<F <1 enfomo. x=

)

Options:
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]
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If : g B T = f(x)— f5(x) and
(n‘—l)(x3+1'+1} x=1 Pl o

x¥1
(x— 1)2 (1‘3 +x+1)

D g
:Afllf-")‘{ﬂ +—]f2(1_}+—g. thenA+B+C+D=
x=] (x=1)

3 1 x+2 5
5 = = = f1(x)— fr(x) Soboin
(x-D(x"+x+1) x-1 x"+x+1

x+1 B Nowan B
. :Af(.r)Jr[BJr—]fu—,}+— senca A4 B A D=
=D (P st P i T oLl e
Options:
1.1
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. . i ' 2
Let M and m respectively denote the maximum and the mmimum values of [ F (6‘)] where

f(a‘?):«jaz cos’+b’sin’ @ + \IGQ sin“ @+ b cos> @ . Then M—m=

| : 5 o : 2 r
f(a‘?):\{nz cos’@+b7sin’ @ + 'Jc:rz sin” @+ h° cos” @ 9 Q00NDYE [f[ﬂ)] RwE), K0,
QR Joodoi S8 M, m o Hiowridosos. wdyds M—m=

Options:

o
pa+ b

(a-by’

L-2

2
5 a* b?

(a+by

I
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60 7 . i
If cosd= i and tan B =— T and neither A nor B is in the second quadrant. then the

- -
angle A+ = lies in the quadrant

60 7 )
cnsAz—a_. tanB:—ﬂ—_1 508050 As) Sz B 5 Bodsdrdos 83 Fwroond,

i .
A-I-? wn oo G0l o

-

Options:
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a5

2 g0 2180y .:io22%0 0 O G
cos 5°— cos 15— sin"15%sm 35%+cos15° sinl 5% cosS® sin3se =

Options:

1. 0

L2
[—

bd |

[ o
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If cos&# 0 and Secﬁ—lz{ﬁ—l)tanﬂ then 8 =

cos8 #0 30650 .secﬂ—lz(ﬁ—l)mnﬂ wond @ =

Options:

T
?m'—l—g.fre Z

T
2}}E+I{GF'}2?3}F.FF =

L2

x
2nm+ g.n =

T
anr—j(m'}zmr.ne Vi
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32 n A\
cot ZC‘OFI I+ZH’J =
n=3 k=1
Options:
10
3
8
2 3
14
;3 3
16
4 3
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: g . A )
If sin x cos/t v=cos 0. cos x s/t v=sin 0 and 4 tan x = 3. Then sm/i" v =

: 2 a . 5 . 2
sin x cos/? v =cos 0. cos x sin/ v =s1n 0 350000 4 tan x = 3 wowd sy =

Options:
4

5

12 '
2| e

—
n

I3
Lh
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.5+(“_C‘+ﬂ_(i+b

; : ‘cos A +cosB
In friangle ABC. if then =

9 10 11 cosC

3 : 'E:r+:: c+a a+b cosd+cos B
ABC @go0&”, = = LBOW B, =

9 10 11 cos(

Options:
o,
y 10

10
T
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In a A ABC. with usual notation. match the items in List - I with the items in List - IT and
choose the correct option.

o€ AABCS:, @im do8arad, ordar -168° wodod, rda - 15 vorod 28560,
Stalenbs’ IS D 0)5 50500,

List-I (e - 1) List - I (z&a - 1)
AR—1,—1,
A [ ki | I) b
i+
7y (13 + 15 " _
B) J “2{ 31 , Y = ) a’.b’.c’areinAP
.;'1.;'2 +.?EI3 + IEII
a’. b2, oo wolEaS® wodrom
& .E_’sin(A—E} %€
) ¢ sin(B-C) e
: i
D) bcCos 5 IV) Rrprr,
V) s(s-a)

The correct match 1s

oS S8
Options:
A B £ D

W WM T ¥

=S
[os)
[
lw,

<
=
=
=

=
[vs!
[
|w,
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Single Line Question Option : No Option Orientation : Vertical

If a. b and ¢ are the sides of A ABC for which iy 8. T, = 12 and e 24 then the ordered
friad (a. b. ¢) =

a.b.ceo AABC gheren wddr, r, =8.1r,= 12. 1, = 24 wond E& ©%0 (a.b.c)=

Options:
(12. 20. 16)

(12, 16, 20)

o]

(16, 12, 20)

(20, 16, 12)

Question Number : 29 Question Id : 1874633709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 47 477 +8k. 2i +3j +4k.2i +5] + 7k are respectively the position vectors of the
vertices A, B. C of A ABC. then the position vector of the point where the bisector of angle

A meet BC is

AABC &8, A.B.Chdine 8saies Scodm 4 +77 +8k, 2 +3] +4k. 21 +5] +7k
wowd, Foin A o), S58wods Ip, BCH §0D Dok Bwg, TSY

Options:

13 -

D i T 4
0

L2
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The equation of the plane passing through the point 7 +27 —k and perpendicular to the

line of intersection of the planes 7. (3i —j +k)=1 and T+ 47 —2k)=2.1s

742] -k Dot HomdFsr, 7.(37 —J +k)=1 0ot 7.(7 +4] —2k)=2 Soswe
DES0E oo™ GO S0 Dauidoo
Options:

F.(=27 =57 +k)=0

7.7 +77 +4k)=0

1

3 7.7 =77 -13%)=1
(=27 +77 +13%)=0

Question Number : 31 Question Id : 1874633711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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If the position vectors of the vertices A. Band C of AABCare 7 +27 —5k.—2i +2j +k

and 27 + 7 —k respectively then /B =

AABC &%, boen A B, C o i $ben $8dm T +27 —5k.—27 +27 +k . 27 + 7 —

anl

wond wdvds /B =

Options:

%)



L2
0
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o
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e,
iy
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n
A

Question Number : 32 Question Id : 1874633712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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If the position vectors of the vertices of a A ABC are a =37 +j +2k.OB=7 +2] +3k

and OC=27 +3 7 +k . then the length of the altitade of A ABC drawn from A is

ABC @ghasn Bu§, 35Sne FEdbies 60 04=37 +j +2k.OB=i +2j +3k

)

20w 0C=27 +3j+k wond, ABC @zhaindoth 4Hod A GG >riY).

Options:

Ty

fad

oy

L2

“‘fm

[ ) | '..u.
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A new tetrahedron is formed by joining the centroids of the faces of a given tetrahedron

OABC. Then the ratio of the volume of the new tetrahedron to that of the given
tetrahedron is

OABC 808D Buog), Snpdne Bomerdine s S ds SSENDA SrFoboTdd. e QIS
SrESom DEBS Sk $H80En 2D SEERH BN, WISEETRING Ho&y IS

Options:
3

| 25
A
g 24
5 62
1

" 162

Question Number : 34 Question Id : 1874633714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Let 4=27 +j -2k and B=7 +7. If C isax'ect-:::-rsuchthatE,E:‘E‘ : ‘E—E|=2\E

and the angle between AxB and C is 30°. then the value of

(ﬁxﬁ)xf‘ is

A=27 +j -2k . B=T +] wF08. o8 586% C @aif:ﬂ . |€-A=22 sop0m
;}(5..5 o g0 30° vduginod wdyd ‘[EXE]HE‘ Jend

Options:
2
1, 3

-3
ko | o
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§ & P8 T a,, are in an arithmetic progression with common difference 4. then their
mean deviation from their arithmetic mean is

i s S aj e d ¥srdy Boo 588 el wodEds” woll, vawd 8 wodhdikoo
oG T8 IS Yoo
Options:
30
11

d

2ld)

Question Number : 36 Question Id : 1874633716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The variance of the following continuous frequency distribution is

Class Interval | 0-10 10-20 20-30 30-40

Frequency 2 3 4 1

& (1Bol EBSJ‘EJQE@;. FADNG DPraany Ang) J98 ¢

S8 woddo | 0-10 10-20 20-30 30-40

4 1

&

A
LT
&

A
[0

?\.
]

[ ]

L]

Options:

3 201
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L-2

; 19

4 84

Question Number : 37 Question Id : 1874633717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If two sections of strengths 30 and 45 are formed from 75 students who are admutted in a
school. then the probability that two particular students are always together in the same
section 1s

2.8 éTeds® TOS 75 Hood &'.‘1&“56{%@& 30 Jood B 45 Hod fde Bodd "“@_ﬁ;é":ﬁﬂ‘-‘
DFLowrd. wawwd JgF0NN A daglhen Johydr a8 WENS' SoBodsy Dogrigd

Options:
66
, 185
)
n 37
2
5 185
s
4 - 5

Question Number : 38 Question Id : 1874633718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A bag contains 2n coins out of which n—1 are unfair with heads on both sides and the
remaining are fair. One coin 1s picked from the bag at random and tossed. If the probability

4
that head falls in the toss is 56° then the number of unfair coins in the bag is

.8 H006° fo 2nodod® n—1 5B ok Yo F800 HOAR Qrond 8 Tl oen,
DADSD ATNEE TrBed. & Dod od wf TBY) Sl dydsorr SN INEIFD. &

41

Rl TN éﬁméé& DogT g e e wond, 8 Ho0S° Toh IYe P00 SO TR

ﬁuwg

Options:

; 18

L2

3 13

14

Question Number : 39 Question Id : 1874633719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Bag A contains 6 Green and 8 Red balls and bag B contains 9 Green and 5 Red balls. A card
is drawn at random from a well shuffled pack of 52 playing cards. If it 1s a spade. two balls
are drawn at random from bag A. otherwise two balls are drawn at random from bag B. If the
two balls drawn are found to be of the same colour. then the probability that they are drawn
from bag A 1s

Pod AT 6 esoidy, 8 B woden 0ok Jod B S 9 efddid, 5 I wodoeod
Gaon. e 0L 52 Snfeo DLDE EQHod wf DE So§ S 7. b Ve
wond Hod A Hod crdDfor Tod wodod ST £ D’ Sod B Sod
SSrcyRyBorrT Bods wodher BJW. vor BS © Tok wodw &8 Joibd wund, ©d
oD ADod 8HXD sHE8 Dogrigd

Options:

3
| 181
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Question Number : 40 Question Id : 1874633720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A random variable X has the probability distribution

4 5 6

L]

X =X, 2 1 2

PX=x) : 0.2 0.3 0.12 0.1 0.2 0.08

If A= {x,/x; 1s a prime number}, B = {x, /x, <4} are two events then P (AUB) =

2.8 OSTFOMNEnE veoTrd X 8. Sorrdnd Jerrano
A &) (i3 )

o

X=x : 1 2 3 o+ 5 6

PX=ay 0.2 0.3 0.12 0.1 0.2 0.08

A= {x,/x; &8 (DS Somg}. B= {x, /x; <4} e0 To Hobrden wand P (AUB)=

Options:

 0.31

1 0.62

L2

; 0.82

, 0.41

Question Number : 41 Question Id : 1874633721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In a Poisson distribution with unit mean. Z |:~.’ - :T'| P(X=x)=
x=0

(% is the mean of the distribution)

SodgHoo eEST HONS ¥ donas deradoes® §0|:a'—:T'|P[X:x):
X:

(Y o380 derado 30§, $¢gs0)
Options:

e
1.

@ |

L2

& | b

Question Number : 42 Question Id : 1874633722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two straight rods of lengths 2a and 2b move along the coordinate axes in such a way that
their extremities are always concyclic. Then the locus of the centres of such circles is

2a 58050 2b FEHen FOAS Bodks BV Fheo, T8 o JoBydr FEcio
ey HirsTEine Joad SOTon. worodl HFgive G SoEine Dokddo

Options:

1 2P+ =a"+ b
i 2
, 2 =)=a+b

, B+ =a*+ b
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Question Number : 43 Question Id : 1874633723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When the coordinate axes are rotated about the origin in the positive direction through an

"/ S : \ .
angle i if the equation 2532 + 9_*.-‘2 = 225 is transformed to oy’ + Bxy + "fl'z = 0. then

.(H+ﬁ+}f—\/3)2=

. T -
AWDoY WO GabES” AFrDE wFoD 7 o |@wo Dobodddyd,
25x% + 937 = 225 $ 0880 o’ + Pav + 7 = 8 & Srdodso Fobd, wiydd
: 2
(af+ﬁ+}f—\f5) =

Options:

-

1. 2

Question Number : 44 Question Id : 1874633724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of the line through the point of intersection of the lines 3x —4v+ 1 =0 and
5x + v — 1 =0 and making equal non-zero intercepts on the coordinate axes is

“E¢Ompen 3x—4y+1=0580%0 Sx+y—1=00 podd Do JihomFér, QErIsTETOw
PO InS L -’iﬁﬁgéﬂd WoSE POT O Do ST HAES0

Options:

| 2x+2y=3

g 23x+23y=6
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, 23x+23p=11

, X+ 2y=T

Question Number : 45 Question Id : 1874633725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The line through P (a. 2). where a# 0. making an angle 45° with the positive direction of

;. i)
the X-axis meets the curve ‘?+ T =1 at A and D and the coordinate axes at B and C.

If PA. PB. PC and PD are in a geometric progression then 2a =

2 ¥
a0 &Eumr‘ﬁﬁj& P(a.2)bomFdr, §d Xwiod' 45° 8 no T S840, S@Eo 1?+1T =1
D A, Do $¢&r; Adrdsgod B, Co $¢8er Seudgod. PA.PB. PC, PD oo a8 HoEses®
&0l 2a=

Options:
1. 13

[
|

Question Number : 46 Question Id : 1874633726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of the perpendicular bisectors of the sides AB and AC of a AABC are
x—v+5=0andx+2y=0respectively. [f A 1s (1, -2). then the equation of the straight line
BCis

'AABC &2 shadoowo AB So8cdn AC Goof), wow HHbrwods Twe Hangdoodioen
S/ x—y +5=050000 x+2y=0. A(l, -2) @ond, viyd BC I3y Sng,
B €S0

Options:

| 14x+23y-40=0

, 12x+17y—-28=0

=
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; 14x — 29y —-30=10

, Tx—12y+15=0

Question Number : 47 Question Id : 1874633727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If each line of a pair of lines passing through origin is at a perpendicular distance of 4 units
from the poimnt (3. 4). then the equation of the pair of lines is

SHrododd MoTIFB wf ﬁd#ﬁm‘cﬁmﬁ&u@iﬁ BDwmen E...g"&,ﬁa_éi (3. 4) 3 Do
$0& 4 clrdl vow Erdoed’ &08, @ ﬁdéﬁwoﬁnﬁé Deb€deea

Options:

| T+ 24y =0

TV +24xv =0

L2

Ty —24xy =0

7x% —24xy =0

Question Number : 48 Question Id : 1874633728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Variable straight lines y = mx + ¢ make mtercepts on the curve 3 ? — 4ax =0 which subtend
a right angle at the origin. Then the point of concurrence of these lines v=mx + c 1s

y=mx +c ol 5003 S5 pen ¥V —dax=0 SE0 Do wodbpoFen, Srododd) S&
w0 ) BdyTnon. edyd eorodl ¥ =mx + c ol Tpo Sw§), eidg Dol

Options:
, (4a.0)

, (2a. 0)

3 54 0)
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, (-2a.0)

Question Number : 49 Question Id : 1874633729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The abscissae of two points P, Q are the roots of the equation 2x*4+4x—7 = 0 and their
ordinates are the roots of the equation 3x’=12x—1 = 0. Then the centre of the circle with
PQ as a diameter is

P. Q w3 Bods Dodoe x-J6rdHsen 2x 44T = 0 3085 Ié Soreren, 5783
1-ErH5e0 3x—121—1 = 0 520867 I8 Soreren ©woxd PQ 2§ TR0 Heo $5d Soo

Options:

L2

(2.6)

L-2

3 (1.-2)

(2.-6)

Question Number : 50 Question Id : 1874633730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the angle between a pair of tangents drawn from a point P to the circle
+ .1-‘3 +4x—6v+9 sin“oL + 13 cos’ot = 0 is 20t then the equation of the locus of P 1s
28 Do Pdood ¥+ 37+ 4x — 6y + 9 sin’a + 13 cos’el = 0 &F SyTR8E ADS o8
égégﬁwmﬁéu Sng, fa}ﬁﬁg?a}u 200 wond, P FwE), DotuiT s Do

Options:

| X+ -6y +4=0

A+ A —6y-9=0

L-2

PP —dx+ 6y —4=0

X+ +Ax—6y+9=0
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Question Number : 51 Question Id : 1874633731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of the circle whose radius i1s 3 and which touches internally the circle

x4+t —4x—6y—12=0 at the point (—1. —1) is
2 +_1-3 —4x—61v—12=0 ©3 E) (=1, —1) Dot I8 woddorm Sydxr, argrdo 3m
e SyE HdoEdeo

Options:

e

3x"+5y +9x~6y—-T=0
i

Sx” +5y —8r—14y-32=0

¢

Sx2+51% —6x+8y—8=0
Sx”+517 +6x—8y—12=0

Question Number : 52 Question Id : 1874633732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Suppose that the circle ok ‘1'2 +2gx+2f7+c=0 has its centre on 2x+3y—7=0 and

cuts the circles 1% + .1'3 —4x—6v+11=0 and i 4 .1'2 —10x—4y+21=0 orthogonally.
Then 5g —10f +3c =

X+ +2gx+2fi+e=0 o3 Sdo, o Bo@) 2x+3y-T7=0 & €0n 08,

S

i 7 i . :
X +y —4dx—-6y+11=0, x —l—j'j —10x—4y+21=0 o3 SyF o vowtidnoe Bod
wdofomo. w3yl 5g-10f+3c=

Options:
1. 0

Question Number : 53 Question Id : 1874633733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option ; No Option Orientation : Vertical
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Ifthe radical axis of the circles x> + j-‘l +2gx+2fi+c=0and 2% + 2_1'2 +3x+8y+2c=0

touches the circle x? + v2 +2x+2v+1=0. theu-(ig -3)(f-2)=

X437 +2gr +2fr =0 5000500 23 +217 431+ 8y + 20 =0 o3 S)dsne Hrogo

4?4242y 4120 e SyER) SyPae0d edyd (4g-3)(f-2)=
Options:

1. 0

9, =1

3. 1

4 2

Question Number : 54 Question Id : 1874633734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The parabola x> = 44y makes an intercept of length /40 units on the line y =1+ 2x then
a value of 4a is

Sordeciho = d4ay petel-To b -_1.=' =1+2x 40 uﬁ.:\m'&&% FéYNe wody POT Dﬂﬁgﬂ@n
@&jc& 4a & 2.8 Qe

Options:

1 =

Question Number : 55 Question Id : 1874633735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The locus of the points of intersection of perpendicular normals to the parabola _11‘2 =4ax is

j.-'2 =4ax ©d HTHOArIS, wowor PodothET wHoowdpe Poid DokiPe BuY), Doddgo

Options:
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.1'3 —2ax+a’=0

J'E +ax+ 2{?2 =0

L2

2 2
v —ax+2a =0

. .
v —ax+3a =0

Question Number : 56 Question Id : 1874633736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

z
P is a variable point on the ellipse 1—,, + ;—2 =1 with foc1 F; and F,. If A 1s the area of the

triangle PF, F, . then the maximum value of A s

L 2
w Lo o~ " i ik, F .
F 500050 F,arghenr Heo &cgdzﬁggm ?—Iﬁ?—]

Rwg, ITogo Awond, ATNE, KODX Jend

e

Ped $008 Doy, PFF,@bao

Options:
e

ab

Question Number : 57 Question Id : 1874633737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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2 2
If the line joining the points A(ct) and B(p) on the ellipse = + ? =1 1s a focal chord.

: o :
then one possible value of cot?- cntg 1s

-

9 .3
B Sy ;—5+%=1 2 A(0) 56050 B(B) &3 Bodk Dodooss §05 dp of o0 oy
5 s 5
oW B, cc}t7-c0‘53 B Jody af Dend
Options:
=3
2.3
3. =9
4 9

Question Number : 58 Question Id : 1874633738 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of a tangent to the hyperbola 5t s 25;1*2 —96x+100y —356 =0 which
makes an angle 45° with its transverse axis 1s

16x° — 2537 —96x+1003 — 356 = 0 ©F w83o-50cirds AdS L850 T 8558 vEod

45° E'mo U, © ﬁ&fféﬁ@ waddmo

Options:

| X—y+2=0

g X—3+4=0
x+y+2=0
x+y+4=0
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Question Number : 59 Question Id : 1874633739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If P(0. 7. 10). Q(-1. 6. 6) and R(—4. 9. 6) are three points in the space. then PQR is

P(0. 7. 10), Q(1, 6. 6). R(—4. 9. 6) & wodoross™d St DocHBB, vyt PQR

Options:
Right angled isosceles triangle

| wowf Sdbeardy Bgheiin

Equilateral triangle

QRVETTV  |Bees o

Isosceles but not right angled triangle

woufm |Bghadn 58 Sdodrdu (@hudon
3. £

Scalene triangle

, D) 2T |Bgheiod

Question Number : 60 Question Id : 1874633740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A(2.3.5).B(o. 3. 3) and C(7. 5. B) are the vertices of a triangle. If the median through A is

; ; : : | &
equally inclined with the co-ordinate axes then Cos {—] o

A(2. 3, 5). B(0. 3. 3). C(7. 5. B) o0 o8 @shasn 8, 85nes. Aboaddh Sdghs

B ErSE wfsvod® SSrd Forer T, cﬁs‘{%]:

Options:
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|y

; 73
Cos (—]
4 5

Question Number : 61 Question Id : 1874633741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Theplane 3x+ 4y 4 62+ 7 = 0 is rotated about the line 7 = (.7 +2j — 3?) + I[EF -3j + A_')

until the plane passes through origin. The equation of the plane in the new position is

SorodohIihod FDIGH [Pono Bodowd. Srdd Fdos

[
Options:
i x+y+z=0

6x+3y—4z=0

" x+2y+4z=0

Question Number : 62 Question Id : 1874633742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

x—a | 2

3
y x +1 i ' .
If ]1111{*k ]—(a:r:+ﬁj} exists and equal to 2 then the ordered pair (¢. B) of real numbers is
X+

3
RS '
lim{ 5" —(ox+f)} 355385098, 28 575308, TEssonge ESooinio (o B)
X—=ea | xS 41 L] -l b
Options:
(1.1
, (2. 1)
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Question Number : 63 Question Id : 1874633743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
SingleLine Qu&stion Option : No Option Orientation : Vertical

E* | : A—X x
For k=0, Z —11111 L(I—E] (l] =

x! nse (1 —x)! iz iz

' e (]

K* 7! Iy
£ 247
k=08, Z - m — (}}_1) _

Options:

Question Number : 64 Question Id : 1874633744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

5 . b x=x]l
a+bx. ifl<x<3
b+5x. if 3€x<5

30 ; I xES

Letf: [R— Rbe the function defined by £ ( x) m_—

then f1s

fTR=>R @3 Hdoso

5 . x<lwond
a+bx. l<x<3wound
b+5x. 3L£x<5wond

3 . XxZ25wo0na
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Options:

contimuous ifa=5and »=5

a=>5.b=5wand wﬁﬁ:;ja’)qlu

contimous ifa=0.h=35

a=0.b=5wwns @Qﬂq}.‘@u

continuous ifa=-5.5h=10

a=-5.b=10 wond @Q%@u

not continuous for any values of ¢ and b

a.be o Dendods w0 58
4 d AR

Question Number : 65 Question Id : 1874633745 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Let [x] denote the greatest integer less than or equal to x. Then the number of points where

the function v = [1] + |1 - 1| . —1< x =3 1s not differentiable. 1s

X8 Dirio edly 8o x 08 S8 5 edby K0L TrTos ) [x] frddyodsofomro. wdyd

Gawo y=[x]+[1-x, —12x<3,0 DobPo 3§ wsELIo F&, & Do Somwg

Options:
11

Question Number : 66 Question Id : 1874633746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If.\fl gy \{1 —y® = f:r(:.f3 — .1-'3) . then Tzﬁ =

dx

.-./1—:1"fi +J1—.1.'ﬁ zn[x‘"—]j] @O0, WIyE

Options:

Question Number : 67 Question Id : 1874633747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

dv d*y
If v = f{x) is twice differentiable function such that at a point P. —=4. r 5= —3. then
x ™

‘-\_,_

(&
(37

v =fx) 036 Botkhdd witeso BohaH Goko vYdr Dok PS¢

s 2 .2
o =4, d) —5 =3 wans, f'd_:ﬂ =
dx dx (aﬁ-‘zJP

Options:

64

2
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E
2, 3
3
5 16
3
4. o4

Question Number : 68 Question Id : 1874633748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The time T of oscillation of a simple pendulum of length L 1s governed by T =27

og |

where g is constant. The percentage by which the length be changed in order to correct an
error of loss equal to 2 minutes of time per day 1s
L&>sg flo af Tordg S g Bwy wigisoo T e30 T=27

ﬁé@uiﬁa&éﬁéﬁ.‘luﬁ. Fard 2 Qdndine Folodi dSrdd S Sl SOV T

T FEYP PO TS0

Options:
"
{ 18
¥,
2. 9
1
6
3
1
4 9

Question Number : 69 Question Id : 1874633749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Let A. G H and S respectively denote the arithmetic mean. geometric mean. harmonic
mean and the sum of the numbers a,. a,. as. .... a,. Then the value of x at which the function

n
2 Sy i ,
Ftx)= Z (:n:—nk) has minimum 1s
k=1
*E'aongm ay. ay. dy. ..., a4, O @uéa‘.’ucﬁgﬁmﬁ Zﬁmﬁ}cﬁgﬁzu. ”’mmﬁa’g}ﬁ ;‘;&qﬁg:ﬁmﬁ Bo0ETL

o 2
560m A, GH. So& HoomrSossod. sy Bdabo f(x) =) (¥—a;) 5% Densss
k=1

EON GoBod® fo x Jesd
Options:

| S

H

k-2
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Form = 1,n> 1. the value of ¢ for which the Rolle’s theorem is applicable for the function

Pl P 0. %

0.a)& m>Ln>1lo& f(x)=x""a-x)" EHharas 58 baodo wisgdabo

wd‘ﬁug € G08). Dend

Options:
2am—1
L m +2n—1
a(ur—n+ 1)

5 2m+2n
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.a(im-l—l)
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2'+1. forxe[-1.0)
If the function f: [-1. 1] = [R defined by f(x) =11 forx=0
2" -1 forxe(0.1]

then. m [-1. 1]. f(x) has

2’+1 xe[-1.0)8
f:[-l.1] 5 R f(x)=11 x=08§
2*-1 xe(0,1]8

™ Q60N wdyd [-1. 1] &° flx) 8

— o

Options:
a maxinmnum

el ﬁﬁ%u 08

a I

2.8 éﬁ%u & od

both maximum and minumumnm

fﬁ&ﬁgoﬁ é:&fﬂw Qo €3 TT)OW

neither maximum nor minimum
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i dx=
i (x‘+])\/:q'3+:r3+x ‘

Options:

( 1 2
4+ X4
ETan_lL LJH:
X
1.
| e |
Tan_IL Ly, J—H:
X

4 T g

L2

) Tan L —]+1'+1'2J+C
( 1+x°

sz_lL : J +c
5
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If I(x) = Ixz {]ﬂgx)z dx andI(1) =0, then I(x) =

I(x)= sz (log .1')2 dx . I(1) = 0 wowd, ey I(x) =

Options:

I3

7 T
8(log x —31&21}+—
. IS|: ( & ) g 18

1_3

—[Q{Ia:}g .1')2 + i’Sln:rg:r}—i
27 27

.1'3 2 2
"—[Q(IGg x)” —6logx+ 2} -
27 27
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dx
"x+ax—1
Options:
\
(2Jx—1+1)
log, |x++/x—1 ‘— =Tan 1( +c
.}

J3
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If the area of the circle x> + j-‘z = 2 1s divided imnto two parts by the parabola v = x°. then

the area (in sq. units) of the larger part is

. : .
S&o ,1;2+.1-“ =2 Gog), ITUEA) DT IO j.'::nr1 Bodd grment™ JIFLY wdydd

T ides® _Jn:'ﬂ.g e ited) SERSINE {zﬁ.cﬁ}?ﬁ@gﬂ@‘}

Options:
3xg 1
L 2 3
4
6T ——
2,
47 2
gi oo i)
1
47 ——
4.

Question Number : 79 Question Id : 1874633759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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If ¢ is a parameter. then the differential equation of the family of curves 1> = c( v+ -;;)2 1s

. g
cHTNET Ko e Sotuondn x° =c(y+c) g wiged SWEdpdn

Options:

~3 52
x(ﬂi] +1(ﬂ] —-1=0
dx “Ndx

1.
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' 3 5

(CRC
dx "N dx

' 3 2

t(ﬂi] +1{£] +1=0
dx " Ndx

3

' 3 52

x(ﬂi] —1(£j —-1=0
dx “Ndx

4
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If £(x). f'(x). £”(x) are positive functions and F(0)=1. £/(0)= 2. then the solution of

| f®) ()
7@ ()

the differential equation =0 is

F@). f1(R). () 0 Sorapg Gasres, f0)=L £/(0)=2 woxd,

F
X X
/@ S®|_ o s
Jx) )
Options:
N EEI
; 2sinx+1
e
3 S x+2x+1
| 4x
s, ©
Physics
Display Number Panel: Yes
Group All Questions: No
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If the charge of electron®e’. mass of electron ‘m’. speed of light in vacuum ‘¢’ and Planck’s
constant ‘h’ are taken as fundamental quantities. then the permeability of vacuum ‘L’ can
be expressed as

JOES 6350 ‘e, JOES BSgord ‘M’ TrSgEest 5od Sri%oo ‘c” Hobodw o§

$T050 D’ o @FE0E ThHeomr SEFIS drdy dSrIEY DRG0 E U)W SrDothdd

Options:

I

1 He‘{’z

| he

H!‘Ez

mc

4 e

Question Number : 82 Question Id : 1874633762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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The velocity of an object moving in a straight line path 1s given as a function of tume by
v=6¢—3¢. where visinms . fisins. The average velocity of the object between =0
and 7 = 2 seconds 1s

S SrGoS® SN wf S99 g, Iodo STwodny, Bobo v=6f— 3w
Q. REE o v ms™ S0, o0 1 DESS R Srah 1= 05005 1=2 Dé5e
s 8 S0 BTNl 3

Options:

;. 0

7.3 ms ™!
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Question Number : 83 Question Id : 1874633763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A gun and a target are at the same horizontal level separated by a distance of 600 m. The

bullet 1s fired from the gun with a velocity of 500 ms . In order to hit the target. the gun
should be aimed to a height /1 above the target. The value of /1 is

(Acceleration due to gravity = 10 1115_2}

e >k Sodokn ©ggo Bodr 2ETARod NTEY 600 m drdod’ &8 DSBS €3 i)e).
goré 508 500 ms ! 30s* o8 2088 Je’.}rsac‘is. e B 0T EJ%@'UFF Ea?é:gﬂu@i
SFE) oFgAsd, I &K HoUrvLiy Dond. sond h dewd

(8285 S5m0 = 10 ms™)

Options:

1 ZA4Am

36m

7
3 7.2m

_ 10.8 m

I

Question Number : 84 Question Id : 1874633764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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A projectile is thrown in the upward direction making an angle of 60° with the horizontal

with a velocity of 140 ms™. Then. the time after which its velocity makes 45° with the
horizontal 1s

(Acceleration due to gravity = 10 1115_1}

8 (8057 140 ms 3K 88z $57r030°08 60° Bomo DHIGom &g cBdeS” AT,
g6z Jiroddod o Jfo Bodw Fwo 45° b Stnswo

(885 Sedmo = 10 ms™)
Options:
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The maximum value of the applied force F such that the block as shown 1n the arrangement
does not move is

(Acceleration due to gravity = 10 ms_z)

& ©H0ES SrdE B3 EBoR0T Gk [HEToNS oo F @wg), K04 deod
(K288 Sgdoo = 10 ms™)

Skg /_'l E-Jg

P T T

Options:
| 20N
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- y 25 :
A rough inclined plane BCE of height (?] m is kept on a rectangular wooden block

ABCD of height 10 m. as shown in the figure. A small block is allowed to slide down from

the top E of the inclined plane. The coefficient of kinetic friction between the block and

1
the inclined plane is S and the angle of inclination of the inclined plane is sin™ (0.6). If the B
25
small block finally reaches the ground at point F. then DF = s
B oC
{Acceleration due to gravity = 10 1115_3) "
10m X
_ ' . : Ground
Do drnndgon 10 m I8ie e 5:34:5&36@??6@ 7§, 630 ABCD & (2_65] m A ”HHNrDuuxly:/,”,, ;;

Jdiio 8 b Trwdoo BCE todadod. aredoo Edod ef O8) 830pb oo
a*da:éé.:_g’ Sherdo. &33@550. Trendery s zéacjgﬁu fafeld é:gaa Moseso é So8obn Trendeo
DwE), T sin” (0.6). D) 630y Joso F Dokl 6¢ o838, DF =

(2885 Sg8mo = 10 ms™)

Op_tions:

5
—m
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e 111

Question Number : 87 Question Id : 1874633767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

www.android.univer sityupdates.in | www.univer sityupdates.in | www.ios.univer sityupdates.in



www.andr oid.previousquestionpaper s.com | Www. pr eviousguesti onpaper s.com | WWw.10S. pr eviousguesti onpaper s.com

Two particles P and Q each of mass 3m lie at rest on the X-axis at points (—a. 0) and (+a. 0)
respectively. A third particle R of mass 2m initially at the origin moves towards particle Q.
If all the collisions of the system of 3 particles are elastic and head-on. the total number of
collisions in the system is

257,88 3m E@Sgorefe Ploddin Qed 3ok Swres X-efow S6dm (—a. 0) Soddiw
(+a. 0) DodoPye 3¢ Smm%&@* . Food Jrodohd & fo 2m @dgoraie
Qo 8o R. 80 Q 39 géﬁ.}mﬁi}"lﬁl&. Ty Beore :55:3% G0, @EDJ e ) aren)

O DS SDESBGH wdirerer wond., 5553%65*‘ =01 Jwdo whiree dopg

Options:
| 2
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A motor engine pumps 1800 litre of water per minute from a well of depth 30 m and allows
to pass through a pipe of cross sectional area 30 cm”. Then the power of the engine is

(Acceleration due to gravity = 10 ms™)

el Jrird dbo@in 30 mS'dbe o) Sood A8 1800 LY V8 &G, 30 cm’
g JTogo fo FLsn TG0 HoaRH)d. vod © cho@ln Fggdn
(o8] oo = 10 ms™)

Options:

| 20.5kW

5.5 kW

L-2

10.5kW

Ll

4, 9.5kW
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A solid sphere of mass 100 kg and radius 10 m moving n a space becomes a circular disc
of radius 20 m in one hour. Then the rate of change of moment of inertia in the process is

28 wododoss® 100 kg 855073 H0dodw 10 m Fgrgo fdo Sdenths) DT Eo b
ffotaes® 20 m Fgrgolio $)Ts S DHT 008, wond RETHS'A 2Edr (g
S8y Bl

Options:

i kg m> 57!

[
Ll
y

Question Number : 90 Question Id : 1874633770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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A semicircular plate of mass ‘m’ has radius 7" and centre ‘¢’. The centre of mass of the
plate 1s at a distance ‘x’ from its cenfre ‘¢’. Its moment of inertia about an axis passing
through its centre of mass and perpendicular to its plane is

mG5goE o edSyEsd S8 QY agrdo 77, Sebain Bogo ‘. u So¥ Gigore
Boio, o Boo ‘¢’ H0d X’ Grdod” Hh. wond 8 Juis vowor T (BgTE
Boo How FSh wio E)yTs TR BEE; (@SS

Options:
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Two bodies of masses m, and m, initially at rest at infinite distance apart move towards
each other under gravitational force of attraction. Their relative velocity of approach when
they are separated by a distance ‘1’ 1s

(G-Universal gravitational constant)

FTood wiod Grdod” JoBoREd” o my Ho8cdn m, Edgorbes o Tod IgPoo
e 3‘3&65 e ?‘i}d}@éﬁm OG0 JOJ wf TIIY B &éﬁl}hi}o&zﬁ:éﬁ. a5 ;".uc,’:g
Erdo T HHRG T8 FDE DK

(G-2d; fodods %E“Géu:’
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A planet is revolving around the sun as shown in the figure. The radius vectors joining the
sun and the planet at points A and B are 90 = 10%km and 60 x 10°km respectively. The ratio
of velocities of the planet at A and B when its velocities make 30° and 60° with major axis

of the orbit 1s

58085° Hrd DFor & (firo Erdgd hisg BEILEBHB. () Srdhgl) 9D Tgdrge
JBFs BFo A H8csn B Dodie $§ SHdm 90 x 10° km S06c50 60 x 10° km
T Ireo ABdoin Bo 8¢ ST 50" S6dm 30° 50000 60° Tigo8 A So00wn
Bo 5§ v @irin dre 308

Vs
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A solid copper cube of 7 cm edge is subjected to a hydraulic pressure of 8000 kPa. The
volume contraction of the copper cube is

(Bulk modulus of copper = 140 GPa)

7 cm ghzo o a8 Soeh Hodods 8000 kPa @ odf adards mhdBvord. ool dodoes®
QNB D80S0 HoFuo
(o=f wsoié owe¥o 140 GPa)

Options:
| 196 x 107 em’

; 19.6 % 10_6 cm3

3 19.6 x 10~ cm?®

, 196 x 10° em’

Question Number : 94 Question Id : 1874633774 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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A long cylindrical glass vessel has a pin hole of diameter 0.2 mm at its bottom. The depth
to which the vessel can be lowered vertically in a deep water bath without the water entering
mnto the vessel is

(Surface tension of water = 0.07 Nm ™. Acceleration due to gravity = 10 1115_2)

a8 IUIS ‘S}?ﬁ;éﬂsﬂci merdr@ wdibyriod® 0.2 mm gdoie wE JHE Sogo sod.
28 O'885 A8 FYUSVE & FED ILIIHT FBSVE D Bdow wod Jor
BOHOAS & s

(3 dodisd =0.07 Nm™, fadgs gcdwo = 10 ms ™)

Options:
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Lsd

| 28 cm

I
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The focal length of a spherical mirror made of steel is 150 cm. If the temperature of the
mirror increases by 200 K. its focal length becomes

(coefficient of linear expansion of steel = 12 = 100 e l)

w80 & Do wbds nE fesd c:‘.‘ii':ijmu o), mqs‘guédu 150 cm cﬁc’gmu Goos), ﬁ%lﬁé
200 K 2008, o) arargoddo
(&8, Bgg 58S ombo =12 x 107°°C7)

Options:

i 186.3 cm

153.6 cm

3 150.036 cm

4 150.36 cm

Question Number : 96 Question Id : 1874633776 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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A metal rod of length 10 cm and area of cross section 2.8 » 10~ m? is covered with a non-
conducting substance. One end of it 1s maintained at 80 °C. while the other end 1s put in ice
at 0 °C. It 1s found that 20 g of ice melts in 5 min. The thermal conductivity of the metal in
IsTm ! K is

(Latent heat of ice 15 80 cal g_l)

10 cm &) S00cko 2.8 x 107 M’ SoggHs Irego SONS ol S 64D of eHuods
HEgod HE Gomd. TR o8 QS8 80 °C 5§ wod, Bodd DBEK 0 °C 3¢ Ko
Dohe” Gowrdd. @l 5 AdnTod” 20 g o EBAMRT §FT. @ &0
BwE), &Q TTES© T sTm! KT o
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A gas expands with temperature according to the relation V = kT% . where f 1s a constant.
Work done when the temperature changes by 60 K is
(R-Universal gas constant)

28 Trainy) GERSS” V= R—T% (28,8 K %G‘“ugu} Dow0Hod wdimor T8 NR08.
SFES 60 K 5005596 2088 59

(R-33q@8 oradan ‘Sa@cr‘*uéo}

Options:
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Question Number : 98 Question Id : 1874633778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An ideal gas 1s taken through the cycle A— B — C — A as shown in the figure. If the net
heat supplied to the gas in the cycle 1s 5 J. the magnitude of work done during the process

C—Ais
28 @il oo Do Gradiny A—-B -5 C = A BB S50 Iepth. &
DB TainYPE @obods IE8 &R0 51 wond, C - ABBoie® 2008 5 H0hr00

N

T 24
V(m?)
=

\-’.

(0,0) P(Nm-1) — 10
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The average translational kinetic energy of a molecule in a gas becomes equal to 0.69 eV at
a temperature about

[Boltzmann constant = 1.38 = 1B K_l]

2.8 TPAinPSTY wooe DS @;a‘*oﬁd 18248 0.69 eV E.ecﬁ:rg ﬁ;gm'é 0 AFGIT
(5G5S poroso =138 x 107 JK7)

Options:

| 3370 °C

3388 °C

L-2

5 5333 °C

5060 °C
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An earthquake generates both transverse (S) and longitudinal (P) waves in the earth with
speeds 4.5 km s'and 8.0kms™ respectively. A seismograph records that the first P-wave
arrives 3.5 minutes earlier than the first S-wave. From the seismograph. the epicentre of

the earthquake is located at a distance

.8 gorsondu aggh (S) Sobadn @A’EQ% (P) ool S85m 4.5 km s So8oi0
Skms S%es 2J05BGB0%D. of FrEosSdd &9 S-Sdomen DL 3.5 JsuasSwe
Snodon &9 P-ddomen ﬁﬂé&:ﬁ $Areo BOXKE. wond FrEodBHI wod grolEold
S daan
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th
An observer moves towards a stationary source of sound with a speed : of the speed of

sound. The wavelength and frequency of the waves emitted by the source are ‘A" and ‘°f”
respectively. The apparent frequency and wavelength heard by the observer are respectively

o
8 D0dvtd Rumd G BIF0 S QLIIToS” E:{i S0 Ha& éb&?&oiﬁ:tﬁa&cﬁ:. 28
S0 ddore SGoriBggo Hobdln FHPTge Jwodor HEBT ‘A S0bosn f . mond
SBBuBE II ByEg FRYRDGRw Dbk dyiy E‘ﬁéuﬁgg}gu Jenden PN

Options:

L L2£ A

¥ 12%

o]

0.8£ 0.8
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AZf iz
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An object 1s placed 0.1 m infront of a convex lens of focal length 20 cm made of a material
of refractive index 1.5. The surface of the lens away from the object 1s silvered. If the
radius of curvature of the silvered surface 1s 22 cm. then the distance of the final image

from the silvered surface 1s

G“gfg} S8EHS Ko, 20 cm Trggoddo o e Soogrstd SLgonsy 0.1 m Swods
§ S0 sodukod. SR BI0IY BJ) SLESO IS Jobrd Jrobedol. J0srd

g5

E:I

TJrohudld doo g SEo mg@“go 22 cm, ®ond Jré Jrobwdd deo Sod &b
8o Srdo

Options:
10 cm

—_

1l em

L-2

12 cm

Lid

_ 13 cm

I

Question Number : 103 Question Id : 1874633783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In Young's double slit experiment. if the slit separation is twice the wavelength of light
used. then the maximum number of interference maxima is

cloofl BIEF HArked”, Ny Mgy Erdo, 08 Sdolf BTz 508 Dok Biwy woid
Eﬂﬂcﬁgfmﬂ&g 250800 0o 0L Sowg

Options:
1. 0
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Three charges of each magnitude 100 puC are placed at the comers A. B and C of an equilateral

triangle of side 4 m. If the charges at A and C are positive and the charge at point B 1s
negative. then the magnitude of total force acting on charge at ‘C” and angle made by it with

AC are

a%‘&éaéﬁ 100 uC S8dormo o Jurdy sized 4 m zhzo Ho 8 ddordv |8hzo
Rw), 3oes A.Boddin Co 5¢ somd. Aboin Ceo &¢ FadTedn Hbosn B3&
e BTR) 4008, C 8¢ Ko edfop S0FH Bodo weo $85rwo HHOC0 88 AC &
Do o

Options:

; 3.625 N, 60°

0.5625 N, 60°

L-2

5.623 N, 30°

0.5625 N, 30°
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An inclined plane making an angle 30° with the horizontal is placed in a uniform horizontal
electric field of 100 Vi as shown in figure. A small block of mass 1 kg and charge 0.01C
1s allowed to slide down from rest from a height h = 1 m. If the coefficient of friction is

0.2. then the acceleration of the block 1s nearly

(Acceleration due to gravity = 10 ms™)

B&az Jdrosdod 30° oo Eoﬁwﬁ:éﬁl o€ Trevdood Jbod® drdddunm 100 Vm!
D568 882 BET0SE Dhgs LB0S® o, 1kg B850 $r6asw 0.01 C esddofie ol
0F) 6F0y h=1mIHS" ol Jordopd Bood Bods adlund. Hodp Mwso 0.2
wond B30 ddmo Hoiordor

((osds Sedmo = 10 1115_2)

E =100 V!

Options:

; 1.3 ms™

A ms ™

L2

o,
3 3.3 ms

4.3 :1115_2
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A capacitor 1s made of a flat plate of area A and a second plate of stair-like structure as
: e _— .
shown in the figure. The area of each stair is — and the height is ¢. The capacitance of the

arrangement 1s

2Tog0 Afo of 29ty Jog 0N DL wsdod® o Todd JHuid wf BIrodbd

.

Saird Dobabod. @8 iy ITeLo 005w J&y d HLoS® Frad @bl Sy,

BE>LHE 5;,
A3

Af3

A3

Options:
Eq A

| 3d

6e5 A
11d

L2
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The radius of a soap bubble is 7 and the surface tension of the soap solution 1s S. The
electric potential to which the soap bubble be raised by charging it so that the pressure
inside the bubble becomes equal to the pressure outside the bubble is

(€ - permuttivity of free space)

2.5 Dm0 wodd mg@“gu rap0oin Swyy (@ H00 Glog) Jusngd S, Sy Wi GIEHOD
0 dRe O HiEdo, Wil wohdl HET,DE ﬁﬁ??ﬁﬁ&cﬂ:g&a&;ﬁ WOUIVOG wEN B8,
Qogs FBITHE

(g - f“d’??f)fgu S0, ﬁﬂé&ﬂéﬁéﬁ}

Options:
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\J a3
l. <o
S
7 4 Eﬂ
4S8;
o
3
&8s
=
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Question Number : 108 Question Id : 1874633788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The ratio of heats generated through shunt and galvanometer is 7:5 when they are connected
to make an ammeter. If the resistance of the galvanometer is 112 Q then the resistance of
the shunt is

a8 @0t dolrdoicintsy Koo Hldiw rotTirdsod SO08, T8 oo
&8 @ond o A8 75 o MmoTrdrdgo ATGo 112 Q wond Hodw I Go

Options:
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, 156 Q

, 156 Q

Question Number : 109 Question Id : 1874633789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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When an mductor of inductance %H . a capacitor of capacitance % UF and resistor of
resistance R are connected in series with an ac supply of rms voltage 220 V and frequency
50 Hz. the rms current through the circuit is 440 mA. Match the inductive reactance (X ).
the capacitive reactance (X). the resistance (R) and the impedance (Z) of the circuit given

in list-I with the corresponding values given in list-II.

0D UF Ko o8 3aH66H So0ako 9860 R

Ho a8 A5'EES0& @8 ms S'Pa 220 V SHdcdn rdddgo 50 Hz o o8 acHdhos

Bosse DH o w oSk, 3308Y

BOaN Swcho aioT B350 B rms Qg s Pardro 440 mA. a1 S wodiads
Sodbo GwE), (wosd; Bac'do (X)), kg Had'do (X), a8°¢o (R) Soosn wh6°do

(Z) &5 =dHe-1I &° owSralS Souohd Sdoadedt Radcitihan.

List-1 List-1I

arder-1 erdar-11
A X ) 200Q
B) Xc m 300 Q
) R ) 500 Q
)y £ IV) 600 Q

The correct answer 1s

BOFS HErTHo
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A B C D
vV I i I
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Question Number : 110 Question Id : 1874633790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A): When a proton and a neutron enter into a transverse magnetic field with
equal speeds. then they trace circular paths of equal radui.

Reason (R):  Inatransverse magnetic field, the period of revolution of a charged particle
in a circular path is directly proportional to the mass of the partice.

dYBEc0 (A): BEEE @k o8 JBoS'VE DS S0 HIDS Ll PEUrS B0a0
S SG5E agrges do GyEEt Sgred @alrdde.

sdwo (R):  a¥ 8555 wdhdod J¥od® SEed Srdod’ GO8N) el wid S0
BwE) eIGS Too, T (G508 S SrdorSos” ok,

Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 5808 (R) &0 Bodkr SOGESD 2005w (R) w36 (A) & $8&08 IS5
l.

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) S0ciw (R) ew Sodr S0603D 570 (R) w38 (A) 8 S0G6S D58 52k

(A) 1s correct but (R) 1s not correct

(A) 5663158 5 (R) 05088 560
3.

(A) 1s not correct but (R) is correct

, (A) 385358 52 50 (R) $0653::56
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th
If only = of the main current is to be passed through a galvanometer then the shunt

th
required is R, and if only = of the main voltage is to be developed across the galvanometer.

. - R
then the resistance required is R,. Then —2_

Ry

1 "
2.8 Wﬂsiﬁfﬁa’:ém RO0T PFS S DI’ 31 D D0 B (LaeTroiadaBl

1 ;
sdonN Qo8 JA8ES0 R, 9 S%ﬁeﬁ“ 11 & Hod HISBD Wﬁﬁﬁé?;’:né:ﬁw D&

Godobis sHond AP0 R, @ood %:
1

Options:
1
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The magnetic field at the centre C of the arrangement shown in figure 1s

D0oS* drdeddiy &d) wiES® Soo C 5§ wobdnod Bgo

ﬂ.h"

Options:

Hol (14
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Question Number : 113 Question Id : 1874633793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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To measure a magnetic field between the magnetic poles of a loud speaker. a small coil
having 30 turns and 2.5 cm’ area is placed perpendicular to the field and removed
immediately. If the total charge flown through the coil is 7.5 x 10~ C. and the total resistance

of wire and galvanometer 1s 0.3 €. then the magnitude of the magnetic field is

a8 TENEE echd) o8 e Sy 3 R) Sy 2.5 cm’ STego 800 30 by
o D) 81D BIErs woalds” God, FJobd wdhd . Siithey oo ROrodS
Iwdo wSdo 7.5 x 10° C, &K %8050 merStantbeo Indgo AGG0 0.3 Q wond,
wafd), 08 F&E H05rmo
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In an oscillating LC circuit. the maximum charge on the capacitor is Q. The charge on the
capacitor when the energy is stored equally between the electric and magnetic fields 1s

28 G'od LC Sochod®, 3rdbly #0g widdo Q Jkgd Soboin wabd)od oo
585 180 dSrom Doy BwEBIE IFHLED wBo

Options:

Q

Question Number : 115 Question Id : 1874633795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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An electromagnetic wave of frequency 1 » 10 Hz is propagating along Z-axis. The amplitude
of electric field is 4 Vm ™. then energy density of electric field will be
(Permittivity of force space =8.8 x 1072 C* N1 m™)

1 x 10141{23‘53@}:‘550 fe o ﬂd&gdcﬁ&ﬁ“&ua‘ﬁ gdoifo Z-w8o Joad Rordnob. ﬂd}gaﬁ
Fdo @g), oSS $0208 4 Vm™, wond wiyd s Fgo @ng), ¥§ Fosd
(g oirSEY H0)EE =8.8 x 10V CO N m™)

www.android.univer sityupdates.in | www.univer sityupdates.in | www.ios.univer sityupdates.in



www.andr oid.previousquestionpaper s.com | Www. pr eviousguesti onpaper s.com | WWWw.10S. pr eviousguesti onpaper s.com
Options:

| 352 x 1077 Im™

. 704 = 1‘3_1‘3 Jm_3

5 70.4 x 1072 jm>
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Question Number : 116 Question Id : 1874633796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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In a photoelectric experiment. a monochromatic light is incident on the emitter plate E. as
shown in the figure. When switch S, is closed and switch S, is open. the photoelectrons
strike the collector plate C with a maximum kinetic energy of 1 eV. If switch S, is open and
switch S, 1s closed and the frequency of the incident light is doubled. the photoelectrons
strike the collector plate with a maximum kinetic energy of 20 eV. The threshold wavelength

of the emitter plate 1s

Haoes® Srhd o L8 570d Qdcge?? 208 (SAros* ﬁq‘cﬁé Sok E ol Dé:ﬁg 5706
DEIDJE. 33515 Slé‘fs:r AT, 23‘51.‘3_ Sjm BIEDSHE DEGS Hel C P Qﬂﬁ;&ﬁom
1 eﬂr’ﬁﬂ% fBedss” adui. “@55 S0 850, ?}5:5 S, oo, HES 5708 Dy, ﬂéz@mgﬁi
Erégo?‘.g} DnG, DEBD Dok >* c:J‘s“_IIES;:-ﬁJEG 20 eV ﬁf}%; i@ 488" oo, ﬁq‘:d Sl
f.ﬂ:u:réar 2 TeTet0] éﬁduﬁgggu

AESE Tod
Monochromatic light
E ‘C
a ol gl
5V 5,
_.'\_“7
8, sv
Options:
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; 41333 A
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In a system. a particle A of mass m and charge —2¢ 1s moving in the nearest orbit around a
very heavy particle B having charge +q. Assuming Bohr’s model of the atom to be applicable
to this system. the orbital angular velocity of the particle A is

&8 SgI9S°, +q edd0 Ho w8 ©d 0 Ewo Bublp m @hgom8 0din —2¢ e3do Heo
w8 bmo A b B0 456 BHHHHH. & Sgigs 56 HoErme ST B05308
wosood, Swmo A Go§), 8575 F8ad 3o
Options:
.Zﬂr:rnlq‘?
= ht
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3}1’?}139 3
o e 38

Eg I~
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Zfrmff
eﬁ n

sam* g3
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Question Number : 118 Question Id : 1874633798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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In a nuclear reactor the activity of a radioactive substance 1s 2000/s. If the mean life of the
products 1s 50 minutes. then in the steady power generation. the number of radio nuclides i1s

0 $7g80 6 BaSrgEe® BARP TOE STy Eoirtod 2000 & HTI® Sk 2DEF G0
50 Qdwirer woud Juid Ahgd B8 8S° TEGr SoEs e JSopg

i}

Options:
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In a p-type semuconductor the donor level is at 50 meV above the valence band. To produce

one electron. the maximum wavelength of light photon required is

(Planck’s constant = 6.6 x 107" J-s and speed of light in vacuum = 3 x 10% ms™)

w8 pUo wiadries” @d Fon Dodras SRS 50 meV 58 Gobd. s Qagﬁ&
518 Basnirs V5SS 08 FLrS Aok, KOG STorBYgHw

FTT

0§ Roogo = 6.6 x 107" I-s So80sw #rS50e’ 50858 =3 x 10° ms ™)

Options:

i 0.0248 pm

0.248 um
; 2.48 pm

o7
. 24.8 pm

Question Number : 120 Question Id : 1874633800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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A signal of frequency 10 kHz and peak voltage 10 V 1s used to amplitude modulate a carrier
of frequency 1 MHz and peak voltage 20 V. The side band frequencies in kHz are

10 kHz Daidagnw, 10V end Sﬁgﬁ feo g Ho8d0s 1 MHz Fardngan, 20 V el
FTPE o w8 TTE SSorrd) SodN HOWS SrdgBhs Dolnbisy TE0. wows Ird
Do FHuysy Jeoden kHz o

Options:
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Question Number : 121 Question Id : 1874633801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The wavelength of a microscopic particle of mass 9.1 = ¥ kg 1s 182 nm. its kinetic
energy in J 1s

(h=6.625 x 107 I s)

9.1 % 107" kgo (&S50 Srgfend Sokdsso 182 mm e wwd o0 K8udg T o’
(h=6.625x 10T s)

Options:
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. TIRx W

728 x 107
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, 364 % {1 T

364 x 107
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The energy of an electron in an orbit of hydrogen like ion with an orbit radius of 52.9 pmin J is

(ground state energy of electron in hydrogen atom 1s —2.18 = I)
885 argrgiaoo 52.9 pm e T E oo udirs S50 Qt:@;ﬁ 48 J oes®

(F6'aS S65rmuPes™D Jogs aran ¥§ =-2.18 1025
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In which of the following the electron gain enthalpy of elements is correctly arranged?

Bod o838 BAS Drose QOEW [Fdrg JoFd) S0TS EDdnd” udddod?
Options:
: S=8Se>Te=0

, F>Cl>Br>1

; Na=Li=K=Rb

2 O=8=8e>=Te

Question Number : 124 Question Id : 1874633804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following orders are correct against the property given?

I) dipole moment : NF,>NH, >BF,
o) Covalent bond length : C-0>=N-0=0-H
II) Bond order : C, =B, >He,

Bod HrRond GoTNE ST i) o [Edren P0GLRD?

) &geed oo : NF;>NH; = BF,

) SHHBrzdch 2o88ggo C-0>N-0>0-H
) eodEsoo : C,>B,>He,
Options:
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The molecule/ion having diamagnetic nature and a bond order of 1.0 is

fefavhyl E-_ac;fuir?rué‘i ﬁ‘SEJ‘fJO S0boin oo 1.0 fo wooi)/=cdre
Options:

+
3 He,

L2
8

Question Number : 126 Question Id : 1874633806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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If the kinetic energy of O, gasis 4.0 kJ mol ™, its RMS speed in cm s71is

0, o3 K828 4.0 kI mol™ woxd d RMS 3o ems™ oo

Options:
| 5.0 x 107

5.0 x10°

L-2

5.0 x 10*

5.0 x 107
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The volume of 0.02 M acidified permanganate solution required for complete reaction of
60 mL 0f 0.01 M T ion solution to form I, in mL is

60 mL o 0.0l MT wdire @romod” Fom wdgTrod L, Dd&d@@% oo 0.02 M
BB HToNRE [THwo HoNHdEredn mL ot
Options:

, 60

20

L2

; 40

Question Number : 128 Question Id : 1874633808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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6 g of graphite 1s burnt in a bomb calorimeter at 25 °C and 1 atm pressure. The temperature
of water increased from 25 °C to 31 °C. If AH of this reaction is —248 kJ mol™". find out
C, (inkJ K1) of bomb calorimeter.

25 °C Sobodw 1 atm &S0 58 6 go [Tl el wrod 36"0LES" Hodomdh. 8
&id 25 °C Jood 31 °C & 0hod. & Pdgio AH densd 248 kT mol™! wond erod
35°006 C, (kI K o) §508%08.

Options:

| 20.667

141.33

L-2

5 1488

0.145

Question Number : 129 Question Id : 1874633809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In which of the following. the solubility of AgCl1 will be minimum?

Bod T&e® IS AgCl (Tihcdaiod 507

Options:
| 0.1 MKNO;

0.1 MKCl

-2

0.2 MKNO,

Water

Question Number : 130 Question Id : 1874633810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of species of the following that can act both as Bronsted acids and bases 1s

Bob réod’ EraRé wiremid Hocn Foreamss ST 8 dopy Jod?

HCL Cl0;. “OH. H*, H,0, HS0;.S0; .H,80,.Cl-

Options:
l. %

!.-J
Lad

Question Number : 131 Question Id : 1874633811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following properties has same value for H, and D,?

Bob $ood® D6 H, 500050 D, 08 H558 Jendis $00 &otnod?

Options:
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density
Fro|tea

enthalpy of bond dissociation
205 ST Ju@"‘@g}

-2

bond length
204 QE— 50

melting point

9 SIFSS Fido

Question Number : 132 Question Id : 1874633812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements from the following.

I)  Tendency to form halide hydrates gradually increases from Be to Ba down the group.
II) Tendency to form stable super oxides increases from Li to Cs down the group.

II) Low solubility of LiF is due to its high lattice energy.

IV) Solubility of carbonates of group-2 elements increases down the group.

Bod TGHS" DOGS DN Dok

) 506 TESom D65H FHge (rYe® §obs Be Hod Bas ESom DEmHE.
) %d@.‘f} Al egiGo :Jcﬁgcfﬁ ﬁ‘.ﬁaggu Hirge® 1Boh8 Lidood Cs % i
) LiF Go¥), wey [@I8chsds s°dwo o8 fo «bs B8 wrof F§ .

V) @rd-2 Srose so3Ee @S8ohs (rys* §oas Db,

Options:
, LI

oL Iv

-2

; ILIO

4 LTI

Question Number : 133 Question Id : 1874633813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following metals exist in liquud state during summer season?

Bod S50S* I8 JoTreod’ EHErhod® Gotnod?
Options:

, Ga

Al

k-2

; Pb

4 Sn

Question Number : 134 Question Id : 1874633814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Formic acid 1s heated with conc. H,SO, at 100 °C to form A and B. When Fe, O, 1s heated

strongly with B. the products formed are C and D. C can also be obtained by reacting
CaCO; with dil HC1. What 1s D?

ﬁﬂéﬁ ruu“éaf;ii s HESO“? 100 °C :3([:’3 S8TcHH A S8cin Ben Ddﬂ}a&m. Fe, 050
B & axeormr &80 C Hobain Dew Dcﬁn“j&"ﬁc.m. C & 205 HCl & CaCO, 1:565 EF‘SO' S
ﬁud&”}iﬁ:&. D 262

Options:
; Fe

, CO

3 CO?

0 Fe3D4

Question Number : 135 Question Id : 1874633815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The non-biodegradable waste formed in fertilizer industries 1s

ADJHo EoryTores” Dd;ﬁa? - Qﬂ&&’)ﬁﬁﬂé o :55% ﬁaﬁgu

Options:
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fly ash
3 ardd

carbon monoxide

e Ira8)b
3...| e

gypsum

ﬁ&ﬁtjﬁj

lead
S

Question Number : 136 Question Id : 1874633816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following has maximum number of hybrid orbitals?

Bod T8S* DA K0H Sopgs® Ho8d whird) eanaa?

Options:

. Cells

, (CHy),C
, (CHy),C=0

, CH,—CH=CH-CN

Question Number : 137 Question Id : 1874633817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In Dumas method one gram of carbon compound gives 50 mL of N, at 300 K and 740 mm Hg
pressure. If the aqueous tension at 300 K is 15 mm Hg. what 1s the percentage of nitrogen
in 1t?

&aaeg e ﬁ%é’ﬁ@i 8 (TH0 BEyE é&éﬁ.’&’)ﬁ)& H00& 300 K H508ciw 740 mm Hg addo e
50mL © N,odood. 300K 5§ 08 ©20 2&d50 15 mm Hg wond od’d iE'as
TEI006?

Options:
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| 5.42

110.84

L-2

21.68

G |

Question Number : 138 Question Id : 1874633818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sodium acetate was electrolysed by Kolbe's method to form two gases A and B at anode.
C and D are formed when B is heated with regulated supply of O, or air in the presence of
(CH4COO), Mn. C reacts with NaOH to form a salt. A and D are respectively.

Fdcho IVBEDH 5T HG8ST ogs AFam wIoSK ITESS Bod ToboPer A. B
Ewﬁa;ux. B &% l['CH3i.'3'IZZi0)|2 Mn 20goes® Qoho@éd HdSrwoie G, gg moes®
363059d C,D en Aymon. NaOH &° C 65508 odwod I)6shs. A, D e
DB

Options:

CO,,CH, COOH
1.

CO,.H,0

L-2

C,H,. H,0

, CO,.H,0,

Question Number : 139 Question Id : 1874633819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What are Y and Z in the following reaction sequence?

Bod H5d Sdges’ Y Hddin Zeo 23?

Qo H&ES
(1) Mg/ dry ether
(i) CO, J
(1) H (;]_ T
: 1) H;
L, — N g
X
Na/
OF
ether
=2la14]
Options:
s & Z
 NaOH/Ca0 CH;(CH,),CH,
b & K
NaOH / electrolysis H,C-CH,
. NaOH [DeogE D
i Z
; NaOH/ CaO H,C—-CH,
& z
NaOH / electrolysis CH,;(CH,),CH;

NaOH / eogé aﬁ&m

Question Number : 140 Question Id : 1874633820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

www.android.univer sityupdates.in | www.univer sityupdates.in | www.ios.univer sityupdates.in



www.andr oid.previousquestionpaper s.com | Www. pr eviousguesti onpaper s.com | WWw.i0S. pr eviousguesti onpaper s.com

At T (K). copper (atomic mass = 63.5 U) has fec unit cell structure with edge length of x A.
‘What is the approximate densityof Cuin g cnn” at that temperature?

(N, =6.0 x 102 mol™)

T (K) :ég 558 (H8Srm @5:55::“% = 63.5U) fcc cgorns wd Eﬁméaaoe? S0l woth
oS0 x A 88 Gl Wa Gie 38 Cu ol g cm™ 06 BoSeEm Jod?
(N, =6.0 x 10% mol™)

Options:
42.3
1 X
423
2, %
423
i
g
212
s X

Question Number : 141 Question Id : 1874633821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of moles of solute present in the solutions of I IT and IIT is respectively.
I) 500mLof02M NaOH

) 200mLof0.1N H,SO,
II) 6 gofureain 1 kg of water

L II 500k I rdered”® 68) @ado Irde Sopgan SHIm
I) 500mLe 0.2M NaOH

) 200mLe0.1N H,S0,

) 1kgddds® 6 ge cordoir

Options:
i 0.1, 0.01, 0.1
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10.1,0.02, 0.1

L-2

0.2, 0.01, 0.1

0.1, 0.01. 0.2

Question Number : 142 Question Id : 1874633822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

6 g of a mixture of naphthalene (C,,Hg) and anthracene (C,,H,,) 1s dissolved i 300 g of
benzene. If the depression in freezing point 1s 0.70 K. the composition of naphthalene and
anthracene in the mixture respectively in g are

(molal depression constant of benzene 1s 5.1 K kg 11101_1}

6 g T9O5 (CyoHg) S00asw eo@as (CyH,y) © oo 300 g BosS® 506Nodadod. e
TS50 HougiSs TS 2398 0.70 Kwoond & dEssnd” TR, Wodoaw DoPLrTren
S8 g odst

(Boda Irerd DRI TR Adeyd guose 51K kg 11101_1)

Options:

1 2.60. 3.40

3.40, 2.60

o]

5 2.90. 3.10

3.10, 2.90

Question Number : 143 Question Id : 1874633823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Under which of the following conditions E value of the cell for the cell reaction given is
maximum?

: % & 2
Zn(s}+ Cu{;g} = Cu[ﬁ.] + Zn[:q]

(87 C,

at 298 K = 0.059V. E° =—0.76V. Egu

[ 2.303 RT
In™|Zn

=+0.34 V]

1+|1Cu

B0B Db GUgE ASgHS & HoRHEOS" Dbo BnE, E Jwd (0507

; | T 2+
.Zﬂ{:n]'_ Cu{m — Cu{m} +ZH{H}
& Gy
' . 2303RT _ L & ?
(298 K u.ac:é g = (0.059V. Ezﬂ2+|h——0.?6v. Em1+|cu—+ 0.34\#]

Options:
| G;=01M. C,=0.01M

C,=0.01M. C,=0.1M

[

, C1=0.1M, C,=02M

C,=02M. C,=01M
4. A

Question Number : 144 Question Id : 1874633824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In the first order thermal decomposition of C, Hsl,) —— CoHyy + H the reactant in

the beginning exerts a pressure of 2 bar in a closed vessel at 600 K. If the partial pressure
of the reactant is 0.1 bar after 1000 minutes at the same temperature the rate constant in
min " is

(log 2=0.30)

5 Bosradto SouiEnS edod D&So 2 bar. 1000 oo SHad Soirasio FEE
@S0 0.1 bar woxd @8 wid ¢ Sew Horoso min~ o

(log 2=0.30)

Options:
| 6.0x 107

6.0% 107

-2

3.0x10°

Lad

30107

e

Question Number : 145 Question Id : 1874633825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify the correct statements from the following.
Sulphur sol 1s an example of a multimolecular colloid.

D
) Tyndall effect is observed when the diameter of the dispersed particles is not much
smaller than the wavelength of the light used.

The process of removing a dissolved substance from a colloidal solution by means of
diffusion through a suitable membrane is called peptization.

IV) Eosin. gelatin are examples of negatively charged sols.

Bod T8 SOGNS INdmod HBotbwm.

) 308 S @30 v ol Forondi wl eorde.

) Sord $0eq) HSdowreod Jisn e Tydo GHRrHoNS 508 88mo
8501184 50 508 wrer 8505 GodsrE.

) Seorond @Tiwod” 804 &) DT DOGLN PR GDArNCD TEHNo TET
Folodrd) Duidno wolrd.

IV) 2Brds, tolifen Srdd Fdodh &GOTdonen.

Options:

| LILII

LILIV

L-3

LILIV

IO IV

Question Number : 146 Question Id : 1874633826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following are carbonate ores?

I) Magnetite
) Kaolinite
II) Siderite

IV) Calamme

T3St 515“3_\‘,3&5' WA wded.

Eob
I &
) £S50038
1)

V)

Options:

| LLILIIT

LILIV

L2

I. IT only

1. TV only

Question Number : 147 Question Id : 1874633827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements is not correct?

Bod UGS B JOS DS TE?

Options:
From SO, to TeO, reducing power decreases

goiEdee aﬂﬁzggu SO, oot TeO, & &g,
1: = < o

The order of boiling points of hydrides of 16 group elements is
H,S <H,Se <H,Te<H,0

(916 Sorose @G D0 Fdo BwY, Evo H,S < HySe < HyTe <H,0

~
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Rhombic sulphur has Sg molecules while monoclinic sulphur has S, molecules.

orof)§ équc‘j_ej* S weLHe Bodron woNd 3rI’ERE Eét:gﬁd" S @ea)en

& 08T 000,

The bond angle in Ozone molecule 1s 117°.

550 wmodst 208800 1175

Question Number : 148 Question Id : 1874633828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Noble metals like gold and platinum are soluble in which of the following mixtures?

worrdo, Peido S0l &)L T Bod o) NFhos® r?

Options:
1:1 mixture of conc. HNO, and conc. H,S0,

| 1:1mg HNOj; 858050 g H,S0, 0 o0

1:3 mixture of conc. HCI and conc. HNO,
1:3 ¢ HCI 508050 I—H\Iﬂjﬂ aF00

1:3 mixture of conc. HNO, and conc. HCI

1:3 ¢ HNO; 300030 g HClo do@hoo

1:3 nuxture of conc. H,S0, and conc. HC1

s 1:3 g H,80, S500cin mE HCl o oEho

Question Number : 149 Question Id : 1874633829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the set of acidic oxides.
wd efibo W8I HBotod

Options:
| Na,0.Ca0.BaO
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. ZnO. PbO. BeO

, CO.NO.N,0

}b"ItljD?’. CI‘OE. 1'7105
4 £

Question Number : 150 Question Id : 1874633830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The wavelengths of light absorbed by the complexes

|:I~~;"1[IL{1{Z})5:'2+ .[I‘Ei(»z??.r]i]3+ .[Ni(I—I.ZDL EHT+ are Ay. Ay, A, respectively. The correct
order of wavelengths is

I:Ni[HQO)ﬁT | Ni(en 3] | Ni(H,0), en] s3pfTe Fam 508 SSonBTgen
585 Ay Ay, Ay SE0NBI g0 BSOS 50502

Options:

L MEAL A

3= hy> Ay
, M

L2

A A=A= )y

Question Number : 151 Question Id : 1874633831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

KMnO, oxidises S,05” to Soi_ in medmm x and NOj to NO3 in medium y. x and y are
respectively.

SrsEo x & 8,02 % SO ™ 50k ckrisko ¥ & NO; & NOj ™ KMnO, ehésemo
BoBohe. ¥ Ho8aKn y e S

Options:
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acidic. basic

e, 50
Cag]

acidic. acidic

€550, 9.1
Lo ¥

[

acidic. neutral

88330, €5d)
L]

B~

neutral. acidic

&

LA

, 8520
[y

Question Number : 152 Question Id : 1874633832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following.
List-1 List-1II
A) Teflon I) SaCl
B) Anionic polymerisation m CF,
C) Cationic polymerisation IT) Bakelite
D) Thermosetting polymer IV) Polystyrene
V) RLi
Bod T8 2&DEIN0
ardar -1 arder - 11
A) g I) SaCl,
B) 305008 >dsnbsdndn oI C,F,
C) secsrdE 39008850 ) BESE
D) &{¢E Fod IV) éﬂ@‘fg@ﬁ
V) RLi

The correct answer 1s

HOGS HERT BB

Options:
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& B £ D
I T v m
& B E B
JE Y 1 OWN

=
e
[@!
lw,

[
|t
(@
|w

Question Number : 153 Question Id : 1874633833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct set of monosaccharides present in sucrose (X). lactose (Y) and
maltose (Z).

E'E (X), o8 (Y), 308 (Z) oS Sdeond IrT'TE060 S8 Hfouakn.

Options:
X i ¢ z
glucose. fructose galactose. glucose glucose. fructose
1 Ar8'E, wES T &, frFs A&, WES
X b 4 Z
glucose. fiuctose galactose. glucose glucose. glucose
. Ar8's, PE& Tofs, (r8'éE ATE'E, K188
X Y Z
glucose, glucose galactose. glucose glucose. glucose
; ir8'a, Arss TS, (r8E ArEs, Ar8s
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X Y Z
galactose. glucose glucose. fructose glucose. glucose
meld, (r8E “rE'E, &S K88, Kr8'E

L-%] g ng ] L] o ] ™

4.

Question Number : 154 Question Id : 1874633834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following are broad spectrum antibiotics?
Penicillin G Chloramphenicol Ofloxacin Ampicillin

(I) (ID) (1ID) Iv)

Bod TBS* Y cSrodedredSer AD?
ends G B0 alES LS SDODROR
(D (ID (1Im) Iv)

Options:
| L. ITonly

LILIII

-2

I0IO0. IV

I. ITT only
4

Question Number : 155 Question Id : 1874633835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arrange the following organic halides in correct order of reactivity towards Sy;2
displacement.

8o BoBak HBES S\2 TBodody BOTS Srglod ERos" widysn.

(CH;),C(Br)CH,CH; . 'BrCHE {CH2)3 .5 5 T CH,CH(Br)(CH, ), CH,
(P) (Q) (R)
Options:
i P= Q =R
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Question Number : 156 Question Id : 1874633836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The bond angle between C — O and O — H bonds in alcohols is close to

we) FSwes” C— 0 S58ddn O-H aoge Sogg o BRE SHOMm Sotnod?

Options:
, 109°

120°

1

; 180°

4 90°

Question Number : 157 Question Id : 1874633837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify Z in the following sequence of reactions.

Bod Edrdo Jigud® Z & fgodhin

Br

NaNO, /HCl C,H:OH " KMnO,
273-278 K 3 OH™
NH,
Options:
COOH
Br

NH,
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COOH
Br

COOH

o CHs

Br

CO0OH
Br

Question Number : 158 Question Id : 1874633838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify X. Y. Z in the following reaction sequence.

8od dorgEdod® XY, Z ol bodod.

b

OH i Cr0;-H,SO
AT T o ¥ /\{( Z />(

. S0Cl, 0 0
& 0 _f
Options:
X Y Z
/\H/ Cl H,CMgBr o P OH/ OH
I O
X X Z
P ¥ (CH,),Cd R L WL
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X X Z
/ﬁ( Cl (CHS)QC(J HO = OH/ HCl (gi&)
(ras00iy)
O
3.
X b Z
O
OH /H"
)k 1 (C,H,),Cd o /H
4

Question Number : 159 Question Id : 1874633839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

2-Methyl-2-butene on hydration gave an alcohol X. Isomer of X could be prepared from
which of the following?

2-03S 2058l S w86 (hydration) $8ge® ey d*d X & ados. $od I8hod
X Qwg), Fyigs &cﬁ?dﬂﬁdﬁf&iﬂj&?

Options:

_A_~ +HBLH0

1.

i T "\ MgBr.H,0/H"
T

H
3. )\0 + >— MgBr.H0/H

)T\ i N.Mg B1‘.H20/H+
4.
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Acetic acid on heating with NH; forms A. When A reacts with LiAIH, followed by hydrolysis
gives B. When B is heated with chloroform in KOH medium gives C. What are B and C
respectively?

DHBE esBvoi NH; & 3655 ADS k. A LIAIH, & $85mdod, o $078 2003k00

B067 B oddyod. B 5608’ KOH oirdsos® 3680 C 0dyos. BSodoin C e
SE[/M AD?

Options:
| CH;CONH,. CH; CH,NC
CH, CH,NH,. CH; CH,NC

, CH, CH,NH,. CH; COOH

- CH, CH, CH, NH,,. CH; CH,NC
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